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10 th STD-RAPID REVISION FOR QUARTERLY EXAM 2024-2025

5-MARKS CHP -1,2,3 AND 5

A={reN|l<z<4}, B={rceW|0 <z <2} wOnib
C={reN|z<3}. aemed (1)AX(BUC)=(AXB)UAXC(C)
(11) AX(BNC)=(AXB)N (A X (C) eresruetteumemm& sflLMT H&.
Let A={zeN|l<z<4}, B={z eW|0<z<2} and C ={re N |z<3}.
Then verity that
(i) AX (BUC) = (AXB)U (A XC) (i) AX (BN C)=(AXB)N(AXC)

A =156}, B=1{4,5,6}, C = {5,6,7}erenfled, AxA = (BxB)N(CxC) erev1é &ML (b&.

If A={56}, B=1{4,5,6}, C ={5,6,7}, Show that AxA = (BxB)N(CxC).

A={1,2,3}, B={2,3,5}, C= {3,4} wpmuo D = {1,3,5} ereofled
(ANC)x(BND)=(AxB)N(C x D) eredTLIg £ _600TeWLOWIT 6T60T BHFTHSHEHRLD..
Given A={1,2,3}, B ={2,3,5}, = {3,4} and DD = {1,3,5}, check if
(ANC)=x(BND)=(AxB)N(C x D) is true?

A={reW|z<2}, B={reN|l<z<4} whmb C={3,5} ereoflled, £Cws&
CI&M(b&SLILIL_(hETET FLOEDTUIM(h&emeNF FHlLMT&Hes.

(i) Ax(BUC)=(AxB)U(AxC) (ii) Ax(BNC)=(AxB)N(AxC)

(iii) (AUB)xC =(AxC)U(BxC(C)

Let A={z e W |z<2}, B={reN|l<z<4} and C = {3,5}. Verify that
(i) Ax(BUC)=(AxB)U((AxC) (ii) Ax(BNC)=(AxB)N(Ax(C)

(iii) (AUB)xC =(AxC)U(BxC(C)

A erettug) 8-g3 el & @ewmeuneot U i6b eTevurSerledT &H6voID, 13 eTedTug) S -g3 el & & em e et
usM eTevurserfledrT sevord WHMID C' eTedTLSH ST emLLILemL LIS 6T600TSH6r 60T S600TD 6160116,
&lpsetuTLeuhenné FlLIMTSS.

(i) (ANB)xC=(AxC)N(BxC) (ii) Ax(B—C)=(AxB)—(AxC(C)

Let A = The set of all natural numbers less than 8, B = The set of all prime numbers

less than 8, C'= The set of even prime number. Verify that

(i) (ANB)xC=(AxC)N(BxC) (i) Ax(B—C)=(AxB)—(AxC)
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A =1{3,4,7,8} wpmio B = {1,7,10} erevfled &ip 2_eiem Hevurmhiserled eTemen
A-eflpbal B-5@& Sherr 2 nemeusd GSNsHena?

(1) R] :{(3)7)) (4)7): (7)10)= (8:1)} (11) R2= {(3:1)3 (4)12)}
(iii) R,= {(3,7), (4,10), (7,7), (7,8), (8,11), (8,7), (8,10)}

Let A=1{3,4,7,8} and B={1,7,10}. Which of the following sets are relations
from A to B?

(i) R] ={(3)7)) (417)1 (7)10), (811)} (ii) Rzz {(3)1)) (4312)}
(iii) R,= {(3,7), (4,10), (7,7), (7,8), (8,11), (8,7), (8,10)}

A=1{1,2,3,7} bpmo B={3,0,-1,7} erenfled, Netreu(peucreunnied eremen A-eSlpmbg 5-ssmeor
2_NeYSHETmGLD?

(i) R, = {(2,1), (7,1)} (ii) R,= {(-1,1)}

(lll) R3 = {(21_1)1 (7=7)= (1=3)} (1V) R4= {(7=_1)= (0,3), (313)1 (0=7)}

Let A ={1,2,3,7} and B = {3,0,-1,7}, which of the following are relation from A to B ?
(i) R, =1{(2,1), (7,1)} (i) R,={(-1,1)}

(111) R3 = {(2)_1)1 (717): (1:3)} (IV) R4: {(7)_1)1 (0:3)1 (3:3)1 (017)}

E&M(b&HSLILLL 2 _DEYSET 66U6E6)TE0TEmMUILD

(1) swbys@m uLb  (2) euenguLd  (3) uLllqulsd (wewpuiled Gm&Hs.

(i) {(ny|z=2y 2 e {2,3,4,5}, y € {1,2,3,4}}

(ii) {(zy)|y = 2+3, 2, y SydSweneu Suied erevorset < 10}

Represent each of the given relations by (a) an arrow diagram, (b) a graph and (c) a set
in roster form, wherever possible.

(i) {(wy)|x=2y = €{2,3,4,5}, y €{1,2,3,4}}

(i1) {(zy)|y = x+3, z, y are natural numbers < 10}

X ={-5134} wpmd Y = {a,b,c} erevfled, X-e0mbg V-86@ Lereucpid
2_meysarfled eremeu enjun@o? (i) R, = {(-5,a), (1,a), (3,b)}
(11) Rz = {('S:b): (l,b), (3,&),(4,6)} (lll) R3 = {('51@)t (1,&), (3,[)),(4,(),(1,[))}

It X={-51,34} and Y = {a,b,c}, then which of the following relations are
functions from X to V'?

(1) Rl = {(—5,&), (1,(1,), (335)} (11) Rz = {(_S:b): (135): (3,@),(4,(?)}
(iii) Ry = {(=5,a), (1,a), (3,b),(4,¢),(1,b)}
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Q&EMbESUULL &niy [ :x — 2° —5x + 6, erevflev,

() f(=1) (i) f(2a) (iii) £(2)  (iv) f(o 1) gpdwehenn wHIIbS.

Given the function f:z — 2* — 5z + 6, evaluate
(1) f(=1) (i) f(2a)
(iif) £(2) (iv) f(e—1)

sub MOy fayeorg f(x) = 22 — 3 eTedT euemOUWIMIS ST L ITED

(@ L+ W
(ii) f(x) = O erevfled, T 8% SMedoTS.

-85 SHITeCUTSH.

(iii) f(x) = = erevfled & g3&% SMedOTS.

(iv) f(x) = f(1 — x) eTevfled ¥ g83&% SHMEGOTSH.

A function f is defined by f(x) = 22 — 3
(i) find £+ /)

2
(ii) find = such that f(x) = O.

(iii) find x such that f(x) = = .
(iv) find x such that f(x) = Ff(1 — =) .

Let A={1,2,3,4} and B ={25,8,11,14} be two sets. Let f: A— B be a
function given by f(z) = 3z —1. Represent this function

(i) by arrow diagram (ii) in a table form
(iii) as a set of ordered pairs (iv) in a graphical form
A={1,234} womwp B ={2,5,_8,11,14} eretiLeor @(H HETVMRISET 6T6ITE.
f:A— B egyup emiy f(z) = 3z — 1 eTet1& Qa@mb&SLLL(been gl @&FniLlemeurds Q1&Meor(h
(i) ewys@M uLbD (ii) @I L euemewor

(iii) euflemss Gamasarfler sevotd (iv) euemguUL LD SpSLauhednS GSHHS

[N — Neretmpaniunengl () = 3z + 2, € N eTer euemIILMISSLILILL T6D
(i) 1,2, 3 -ulledr Blped & (HHSED6TE SHTETUTSH
(ii) 29 wOmID 53-uledr (PeiT 2 (HEHEmeNS HMesurs. (iii) FTILNET CUEDSHEMILIS SHMETUTS.
Let f be a function f: N — N be defined by f(z) =3z + 2,7 € N
(i) Find the imagesof 1, 2,3 (ii) Find the pre-images of 29, 53
(ii) Identify the type of function
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f:A— B ee0ip &MIUMETE flz)= é— 1, ere0T euedIWMISSILGIDG. SkiE,
A=1{2,4,6,10,12}, B=1{0,1,2,4,5,9} &4 8m&@&L0oEungl &L /- L9eTeumLd (wemmaerfled

G &S

(i) euflem&s Bamaserfledr evond (ii) @ILLeuemevor  (iii) subyd@nd uLb (iv) euemTULLD

Let f: A— B be a function defined by f(z)= é— I, where A=1{24,6,10,12},
B =1{0,1,2,4,5,9} . Represent f by

(i) set of ordered pairs (ii) a table (iii) an arrow diagram (iv) a graph

F=1{(12),2,2),(3,2),(4,3),(5,4)} eretrp &miLilemevr
(i) 2ubysem uL  (ii) S L euemevor (iii) euUeMTULLD EOEILOMSS GHMIHSEYLD.

Represent the function f = {(1,2),(2,2),(3,2),(4,3),(5,4)} through

(i) an arrow diagram (ii) a table form (iii) a graph

r+2 ; a>1
[ eretTD FNTUMETTS flz) =12 D —1< <l @ eTelT euemTIMSSUILLLITE)
r—1; —3<r<—1

(i) £(3) (ii) f(0) (iii) f(—1-5) (iv) f(2) + f(—2) sySweubDmle WHILHNETSH SHTETUTS.

T+ 2; x>1

If the function fis defined by f(7)=12; —1<x <1  find the values of
RNl —Jd<r<—1

(i) f(3) (i) £(0) (iif) f(—1-5) (iv) f(2)+ f(=2)

[:[-5.9] - R etetm enyunentg) LletTeu(BLOMM)| 6UeDTIWNSSILGEDE

6z +1; =5 <x<?2
fl)=152" -1 ; 2<2<( ee0r GUEDIWMIGHLILGLADS ereufled LeieubeustTaunhenns
Jr 4 ; 6<2<9

A function f:[-5,9] — R is defined as follows:
6r+1; —H<xr<2
fl)=1{52" -1 2<2<6
3x— 4 6<ax<9
(i) 222 =10

Find (i) f(=3)+£(2) (D) f(7) = f(1)  (iii) 2/(4) + f(8) a0+ F-2)
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2 + T or <2
smiyf:R - R spyerg f(z) =12 - 2; —2<z <3
6T60T EUEMTIMISSLILILLITED, Sr—2; x>3
) f4) G f2) G @2 vy D=3

S SweuDMedT L FILILSEmes STeT0TS.

2w 4 T; r < —2
If the function f: R — R is defined by f(z)=12" -2, —2<a2 <3,
then find the values of 3z —2; r =3

(i) f(4) (i) f(-2) (i) f4) +2/1)  (iv) m;(iz‘w

yefuiiiy elemsuleir sngevonons ¢ efemiasefled @ ELMHET SLSHESWD SHTILOMNETS]
S(t) = %gt? +at +b erevid QENbSHSILL(bETaTEH. i@ o b Sydluemey mmledlaer
(g syevrg LeuSili eflenaulleit SNTevoToTs ghLbLD (Pb&SLD). S(t) ShelTs) 660TMISESTEITDMET
SMILIT@LOT 6T60T SHTMILIS.

The distance S an object travels under the influence of gravity in time ¢ seconds is
given by S(1) = % gt* + at + b where, (g is the acceleration due to gravity), a, b are

constants. Verify wheather the function S(¢)is one-one or not.

t eretTD EMTuMenTg \Fedlwerdled (') 2_eien leulILBlemeEnenWILLD, UmTeiTemLqed ( F') e_eer
GleuliLflemenem LD SenetoTSH@LD FMTLMGSLD. gD i) 1(C') = I 6T60T 6UemITIIM&SHSLILIL L 6D,
C
(8@ F = %(7 +32).
]
(i) (0) (ii) #(28) (iii) #(—10)
(iv) H(C) =212 sy @meeW0LGung O -6 iy
(v) ezeddleivy D unTemanl wHlyb &owors SmeESoeurg  eeuluflenen
Sy FweuhHemns HeouTLls.
The function ‘t" which maps temperature in Celsius () into temperature in

Fahrenheit (F) is defined by #(C') = F where F = 2(7 -+ 32. Find,
5

(i) +0) (ii) #(28) (iii) #(—10)

(iv) the value of C'when #(C') = 212

(v) the temperature when the Celsius value is equal to the Farenheit value.

flz) =22 +3, g(z) =1— 2z womub h(z) = 3z ereflev,
folgoh)=(fog)oh aer B

If f(x) =22 + 3, g(z) =1 — 2z and h(z) = 3z. Prove that f o (go h) = (f o g)oh
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eanpasiulL f(z), g(z), h(z) sydlweuhenms a&neoiy (fog)oh = fo(goh) aeré
S (b.

(i) flo)y=z-1, g(z) =3z +1 whmb h(z)= 2"

(ii) f(z)=2", g(z)= 2z wpmub h(z) =z + 4

(iii) f(z) =z —4, g(z) =2° wHmd h(z) =3z -5

Consider the functions f(z), g(z), h(z) as given below. Show that
(fog)oh=fo(goh) in each case.

(i) flz)==2—1, g(z) =3z +1 and h(z) = 2°

(ii) f(z) =2, g(z) =2z and h(z) =z + 4

(iii) f(z)=2—4, g(z)=12" and h(z) =3z -5

f:R—-R wpmp g¢g:R >R ey weopBuw, f(z)=21", g2) =2' aer
EUEDTIMIGSILLLITED, f, ¢ SpHIemEN QEOTMIHEGS GETDHNSIST WOHMID o ¢ QTNISS
QEUTDIME0T FMTLIMGSLON 6T60TM)| SHTMLIS.

If f:R— R and g: R — Rare defined by f(z) = 2° and g(x)= x*then check if £, g
are one-one and f o g is one-one?

f(z) = 2%, g(x) = 3z wpmb h(x) =2 —2 erevfléd, (fog)oh = fo(goh) erer Hmieys.

If f(z)= 2", g(x) =32 and h(z) = 2z — 2, Prove that (fog)oh = fo(goh).

396, 504, 636 SpSEluIeuDN6dT L5.6ILIT.6U SHMesUTS.
Find the HCF of 396, 504, 636.

Pl p xpd xpt = 113400 @@, p,.p,,p,.p, ereouen am) euflensuled Siewiops LS
CTEOUT&ET LMD T, T, L,, T, CTE0TLE (P(P&S6T ereulled. p . p,,p,,p, LOMWO T,.1,,7,,T,
S SeuDMIE0T LOFILIL|SHENETS SHTETuTs.

If p' x p* x p* x p;* =113400 where p,,p,,p,,p, are primes in ascending order and
7,,1,,7,,, are integers, find the value of p,p,,p,,p, and z,z,,7,,7, .

1230 whmib 1926 Syl eretorsems EUGSHSWEUTE & 12 -8& sr&engwl WsleLflwu
GTEUUTEMEUUTE SHTETUTS.

Find the largest number which divides 1230 and 1926 leaving remainder 12 in each
case.
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a =1, a,=1 wpmw a =2a _ +a _,n >3, ncN eefled, agrieuflensuier wsed
Sym| 2_MILIL|SHEN6TSH SHTE00TS.

Ifa =1, a, =1and a =2a _ +a _,n >3 ncN, then find the first six terms of the
sequence.

If d is the Highest Common Factor of 32 and 60, find zand y satisfying d =32x+60y .

32 whmib 60 gyFweunilerr BLALH OLNE euGsS d eretts. d = 32x + 60y erenfled = LOHMID
Y ETENTD (LP(RSHEWENS SITETUTS.

3.15.27.39.... eetip e@nLieuflemsuledr 15-eugl, 24-eug WHMID
n -eugl & Mt (QUmgl 2 mIfL|) SMetors.

Find the 15", 24" and n" term (general term) of an A.P. given by 3, 15,
27, 39,...

QM FLbd OgnLieuflemauien 7 -eug 2 miiy —1 wHmid 16 —eug) 2-miiy
17 erevfled. SiZ60T QUG 2 _MILIEDLIS SHTETUTS.

~th th

Determine the general term of an A.P. whose 7" term is —1 and 16" term

is 17.

Q@ SNl seiterllLid 2 eter 3207 & anl bs OBTLT euflemsuied Siemiowjid
cLeiTm) Unsiusetnall LNfl5 &S S60T8 APt NI GSLHERSSEHHGSLD Q&M (béHs e([BLOLI6TTT. Sieuhried
8m A egremsseafledr OLmSSHUMDET T4623 SHGD. QEUNH GLHewsWD UMD
QB TemHUNEMEITS SHMTE00TS.

A mother divides 3207 into three parts such that the amount are in A.P.
and gives it to her three children. The product of the two least amounts that the children
had ¥4623. Find the amount received by each child.

QM Falbs T Teauflensullen eeTusmeugs - nUNeT QTS LMIGW, USlenarbsmeug

2 minferr uflewenthg WLMIGD &ob erefled BUSHH HreoTaneugs 2 miiider <hm|
IDL M &Te0T S LpFFILID 6T6uT Hlmi6)s.

If nine times ninth term is equal to the fifteen times fifteenth term, show that six
times twenty fourth term is zero.

9, 15, 21, 27,...,183 er601D SnL (b5 OSTLTeUflemFUT6T Hh 2-MILIL|HEWETSH HTEOUTS.

Find the middle term(s) of an A.P. 9, 15, 21, 27,...,133.

QU FmLlbs asnLieauflenswied siembbs SibsHSbSHS Wt e-milysefler snbsed 27
LOHMID SeuDmledT ALHESHSDHLEDEIT 288 6T6viled. SbG CLPEITM)] & MLIL|EHEWETE SHIT6T0TS.

The sum of three consecutive terms that are in A.P. is 27 and their product is 288.
Find the three terms.
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QM Flbs esnLieuflemsuileor 6-eug wHMID S-6ug 2 miiyseafler efldsn 7:9 erefled.
9-eugl LOMID 13-6ug 2 M| sefleir el HMevors.

The ratio of 6™ and 8" term of an A.P. is 7:9. Find the ratio of 9" term to 13" term.

S GaflIsTeSSle0 SiisaTElpenid (&6 CleeTearlsSpeno cuemy e’ iquiler QleuliLfhlened
Fnl(bd esnLgeuflemsuied 2 eemeur. Fliuser Hem (PHED LUSHETELEMID CUEHDT 2616
eeuliuflemeosafledr snbhsev 0°C HMID LSEITELDDLD (PFHed CeueTaflSEpemo suemT 2 _6iTer
QeuliLflemeosarfletr sn(hged 18°C ereufled. gbg HreTaearledr OleuLILIHEmenSEmeTsS &HMe0uTs.

In a winter season let us take the temperature of Ooty from Monday to Friday to be
in A.P. The sum of temperatures from Monday to Wednesday is 0° C and the sum of
the temperatures from Wednesday to Friday is 18° C. Find the temperature on each

of the five days.

Sflwim SevTg (PSH6D LS euBLEeTons 15,000 FLbADTT. 1560t D@ eeUBGeuT ShevuThld
SieuT &) LoNG eUBLOMEUTD T 1500 2 WTHnE). SieuEhenL I (PHeD Long &6 13,000 whmjb
Sieuengl LMEMHSITE aFevey eeuGeunt spevorpd T900 e wrdngl. Wflwrelsr wrgnbHTs
@zl 320,000 SiemLLL 6TELENETEY SHMTEOLD SHhGLD?

Priya earned 15,000 in the first month. Thereafter her salary increased by 31500 per

year. Her expenses are 13,000 during the first month and the expenses increases by
2900 per year. How long will it take for her to save 20,000 per month.

300-&@Lb 600-&@ GemL Bl 7-8460 6UGU(bHLD SieweuTSH | BILI6d eTevuTg6rl60T
Fo(hSHED SHNEC0TS.
Find the sum of all natural numbers between 300 and 600 which are

divisible by 7.

QM Gzmelgeter eipaeEndd® 1| WwHed 49 aemr OSTLIFFILTSHS
&36lle0éHD  eupRSIULGETeTE. 6FbHellerr 6ilyhe WweTearsns o eter  6fipserflen
&5ellensaniseflearn sl asmenswnarg ashdleler silunal Uerarsns o erer sibserfler
5560605 5M&afl6r gnl (h&6BTemHEEGE SO eTaufled O1&H S 606 651 (hé B560605556mS5SH HIT6TTSH.

The houses of a street are numbered from 1 to 49. Senthil’s house is
numbered such that the sum of numbers of the houses prior to Senthil’s house is equal to

the sum of numbers of the houses following Senthil’s house. Find Senthil’s house number?

8 Ll (bd OsTLieuflemsulieor 104-6ug 2 miti) wopmd 4-6ug 2 _miliseT (WwempGuw 125
Hmd 0. SiSOSTLT euflensuler (PSHed 35 2 MILIL|SH6TI60 Fa(hSHed &ITeTuTs.

The 104™ term and 4™ term of an A.P. are 125 and 0. Find the sum of first 35 terms.
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816 QO L ssenile eurruse efloUSDTT. Sieul SiBhaner agnenswner  I40,.000-g
2 | eUTIqUINS LIETUTON&EYD 61FQISSH60MD Siedevgl 10 onss seuemevuisafled (HHed Feuemevor
74800, @gevorLmb geuewevot T4750, epedimMd Heuewevor T4700 eTedn SigliLemLulgd
Q5SS e0MD. SieuT B cuensHUiled LISTUTD QIFISHFHS DT eT6vileD.

(i) 10 e seuemermsafled Sieul QIS QLMESHSH O5TEDS

(ii) 1oMas Seuewevnr siqliLemLuled LewNd QFQISHOEUTSH U] Fened SMLlgaD

Fn(bHONHE OEQISIHIL OBHTENSH SHELICUDEDDS SHTE00TE.

Raghu wish to buy a laptop. He can buy it by paying 340,000 cash or by giving it in
10 installments as ¥4800 in the first month, 4750 in the second month, I4700 in the
third month and so on. If he pays the money in this fashion, find

(i) total amount paid in 10 installments.
(ii) how much extra amount that he has to pay than the cost?

®@seuT sner Oubm T65.000 sLemen FlELlE OFqISs (WHed s T400 AFQISHISDNT.
315607 ING E6UCIEUN(H MG (PHemSW WHD eRsSluemngell I300 Fnbseonss
QFSHEDTT. SieuT BHSHS HLWET WL H& eTex6U6TeYy SMe0ld BHemeuliLi(ho?

A man repays a loan of 65,000 by paying 3400 in the first month and then increasing
the payment by T300 every month. How long will it take for him to clear the loan?

—

In a Geometric progression, the 4™ term is § and the 7 term is ——.
. . . 9 243
Find the Geometric Progression.
, (5 ALGHSS OFTLTeuflensuller 4-6ug & _mi] S WHMID 7-6ug _mn]
64 ¢

— aTenfled, BsLl ALHESS OBNLITeUflenFenils SHNeturs.

Qm UmSSS g iauflenswllear SibssbSHS TN 2-niLsHarfler
QLB HSDLEDET 343 WHMID SieUDIE0T Fo(bS6d )T 6TevTled. SHBS CLPEUTM| & MILIL|SHEWETSH SHTET0TS.
The product of three consecutive terms of a Geometric Progression is 343

(
and their sum is % . Find the three terms.

eF BwhHrsHler HEUTengW wHli 40,000 HMID E6UE6UN(H SUIHL(PLD
215601 FHLL 10% GewnéDg!. 6-6ug euBLSS6d BuibSTHHeom CGHmImu HLiewLs SHTevurs.

The present value of a machine is 340,000 and its value depreciates each

year by 10%. Find the estimated value of the machine in the 6 year.

&6 UHEHSS OFTLTeuflemaullsor 9-eug 2 _miiy 32805 wmHmib 6-6ugl 2 miiy 1215 erenfleb,
12-6ugl 2 mIewLI& HTE0UTS.

In a G.P. the 9™ term is 32805 and 6™ term is 1215. Find the 12" term.
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Find the sum to n terms of the series

5+ 55+ 555+ eretim Qamflesr s N 2 _mliyseafles s SO ETHTS.
3+33+333+ - aretim Qsmifler s N 2 _mliLsalled g B0 ST6HTS.
7+77+777 + - ereipm Qsriflér wpsed N 2 _mliysaflen s BS0 STETSE.

34+6+12+ .-+ + 1536 eTedIm UIHH G D \SMLIFI0T Sn(bH6D SMeCUTS.
Find the sum of the Geometric series 3 +6 +12 + --- +1536.

FoL(bHED HITEOUTS.
Find the sum of (i) 10® +11* +12° ... 4 20°

(ii) 9° +10* + ... +21°
(iii) 15° + 16" + 17" + --- + 28°

GrameiLd 10 a5, 11 &15, 12 Q815 ...., 24 6515 eredTn LSS leneystem 15 F&IT eulg 6l
CUEDUTEUUTS SMEGRIGET 2_6Tenelr. Bhg LTS SNEGRIHENENS CST6T0I(H 6TEUEUETEY
urLienU SienL 55| Sieorusifles (wigub?

Rekha has 15 square colour papers of sizes 10 cm, 11 cm, 12 ¢m,..., 24 cm. How much
area can be decorated with these colour papers?

9 @b LB smarsslepalods Quich 6 arEeflen TS ST eHTS.

Find the sum of all three digit natural numbers divisible by 9

e pul 10 eumLhsefled T16500 g GalsSpnT. Qeucleun(d euBLIPL Seul GFlHELD
QZTemSILITETS SBNG (WHews eu(mLLD GFfls@D agnenssnw ail T100 sifl&w. sieuf
(PS6DL UBHLLD ereveueney Galg S BT ?
A man saved 16500 in ten years. In each year after the first he saved Y100 more than
he did in the preceding year. How much did he save in the first year?

Find the G.P. in which the 2" term is +/6 and the 6™ term is 96 .

&6 OUEESS s Teuflenauiled 2-eug 2 M| \/E OHMID 6-6ug 2 Mty 9V6 ereofled
ShHSS STLTEUTlenFenIISH HMEC0TS.

8 aunserHSler L QeuGeut] SyeTurpld 15% GmDHDG. UMSaTSHS6T SHELTEDSW
&L 745000 erevfled, 3 SpevorhHEHSHSL LIDG 6unSHeuTHS6T SILIL| revreur?

The value of a motor cycle depreciates at the rate of 15% per year. What will be the
value of the motor cycle 3 year hence, which is now purchased for ¥ 45,0007
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AetteuwLo cweormy wnpfleefled Siewiophg CHIflL soaTuT (h ASTEGLUeners
Bi&®.3r 2y +2=2,2r+3y z=5,x+y+z2=6.

Solve the following system of linear equations in three variables
Je-2y+2=2,20+3y-2=5,z+y+2=6.

- . 1 1 1 1 1 1 1 1 4
Sises : — + — — — - - =—; - — 4 2 =2=
2x Ay 3z 4 @€ 3y @ Dy z 15
Solve: 4L 1 L 111 1 a2
2x Ay 3= 4 @ 3y @ Dy z 15

Solve the following system of linear equations in three variables
(i) 24+y+2=5; 2r—y+2=9; z—2y+32=16
SpssTemId cpedTn) oM Serled Siewiohs 6Bk emlo GBhIflieh SOITUTL (hs OSMTGSLIL|HeweTS
Ei&s.
(i) 24+y+2=5; 2x—y+2=9; 2—2y+32=16

Vani, her father and her grand father have an average age of 53. One-half of her
grand father’s age plus one-third of her father’s age plus one fourth of Vani’s age is 65.
Four years ago if Vani’s grandfather was four times as old as Vani then how old are
they all now ?
SNHSM, HHeWS LHMILD eurevvfl Syl epeurfleot sxnal euwig 53. sTHsmedler euwigled L,
shenguilstr euwgled cpedTiled & U@ HmIb euresufluiledr euwiFled HreiTdlsd H LMiG
Sy HUDMIEIT Fn(bSED 65. BTG SHEOU(hSHEHHS (P61 STHSMeNedr eulIg eursvuflulledt
QU SBUITED BHT6IT@ oL@ 6renfled cpeulfledt SHBUTERSI EULIENSES SHTE0TSH ?

162°> — 2 —3 _ 82° + 1lx + 3
GHSSS 32> —2xr —1  32° — 11z — 4

(SIMPLIFY )
Simplify
) xr+ 4 9z® — 164> .. b®> + 3b — 28 b® — 49
(i) - X = - : (ii) — = —
3z + 4y 227 4+ 3z — 20 b + 4b + 4 b= — 5b — 14
2 3a — 4 2 20 — 8 . 5 o
If = = % and y = - ‘)+ “ 7 ° find the value of ry 7.
3a” : 2a° — 2a — 4
T = w LOHOID Y = w ereofled, 2212 —60T LoSIIemUS HTET0TS.
3a” — 3 2a° —2a — 41
; ; 1 1 1
Simplify — + -

z? — Hx + 6 r® — 3xr + 2 r? — 8r + 15
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IfA— 2:1.:+1) B 20 —1 find 1 B ‘)QB :
20 —1 20+ 1 A—B A —D°
A% p_ 1 prove that (A+ B) +(A- BY _ 2(z* +1)
41 z+1 A+ B r(x + 1)"

Find the square root euT&&eeold &Mevors.
i)(62° + 2 —1)(32° + 2z — 1)(22” + 3z + 1)
ii) (42° — 92 +2) (72° — 13z —2) (282" — 3z — 1)

Find the square root of euT&&ceold HMevors.

642" — 162> +172° —2r +1 02t +122° + 2822 +axr + b

o' —122° + 372 + bx +a (ii) ax* + bz® + 3612” + 2202 + 100
o' —122° + 422% — 362 + 9

372 — 282 + 42" + 422 +9

162" + 8% +1

1212* — 1982 — 1832 + 2162 + 144

et e P o4 Q3 2, .

362" —602° + 612" —ma +n (ii) 2* — 82 + ma” + nx + 16
SOLVE- Eises — 4 L 1_,1
r—1 x 2

TS YT5H (wenpuled Si&Hs.

completing the square method ?—3cx—-2=0

el

20" —x—1=0 922 — 122 4+4 =0

5T (ewDemwill LWeTL(bSSIL LNeiTeuhD SHLIGE FLOITLM(HhSHENETS ST H5.

Solve the following quadratic equations by formula method
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20° =5z +2=0 27" =32 -3 =0

r+2r—2=0 3y° —20y —23=0

Q@ eusturenvflenr euwg seurg sGasnafluller euwengl Gured SHOLMEG SHSW. BHS
) eTUTbHERSHGSL Vet @ euugsisefledr QumssDUeT 375 eefled, §Bsnsflserfle
SHEUTEmSI CUILIENSHD HITEO0TS.

A girl is twice as old as her sister. Five years hence, the product of their ages (in
years) will be 375. Find their present ages.

& O5RIBaTeuwT (P&BsMeTS Hl6iT SHTevund 25 618 15 IDHMID SiHedT SHhMarey 56 Q1F.15 erevfled,
(Ww&EBamevud et A LSHHH 60T DiGTEDEUS SHITEOUTS.

The hypotenuse of a right angled triangle is 25 cm and its perimeter 56 cm. Find
the length of the smallest side.

36 #.15 HISems Qb UL BOIMLL Sl flemsuied sL&GD CrISensaiL aHidlensulsd
&L&@D GBI 1.6 wewfl GrOb siflswns abpsmsesnadng. BEIMT LSSHer Geusbd
4 &l.15/wevuf] erenfled, Siemaeunm Hifled UL Sleor Beusld eTedT60T?

A boat takes 1.6 hours longer to go 36 kms up a river than down the river. If the speed
of the water current is 4 km per hr, what is the speed of the boat in still water?

aLHmb b 6wl eTevorae ereofled, (a — b)r” — 6(a + b)x — HNa —b) = 0 —uledr epeoriuger
QoW LoHMID &FLoLblevemen 6TeuT HlebLS&eYLD.
(¢® —ab)z® —2(a® — be)z + b* — ac = () eT6dTD FLOETUMLIG6D CLPEOMISET FLOD LHMID ELOLI

ereofled, a=0 sigbeog o’ + b° + ¢* = 3abe ereor HerpLa.

If @, bare real then show that the roots of the equation

(a —b)z* —6(a + b)r — 9Ya —b) =0 are real and unequal.

If the roots of the equation (¢* — ab)z® —2(a* — be)xr + b° — ac = 0 are real and equal
prove that either a=0 (or) a® + b* + ¢* = 3abe

3¢° + 7 —2=0, etedip HETUNLIQENT CPEOMmISET o LHMID [ ereofled
Q&M (bSsUULL WHSHen6Ts SIS
2 2
! 5]

Lo 3 ..
1) —+— 1) —+—
@ 5« (if) 1] Q

If @, B are the roots of the equation 3z° + 7z —2 = 0, find the values of
| 2 22
(1)%+i (n)%Jri

@ @
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The roots of the equation 2z* — 7z + 5 = 0 are a and . Without solving for the roots,
find

20" — Tz +5 =0 eredTD SHTUML Q60T cedruser o hHmib [ erefled, Leireu(meusoTeunsedt
LI BeneTSH HMe00TH. [(GMIIY: ST6y CHemeuuiedenen]

~ 1 1 Lo [
(i) —+— (i) —+—
a [ 8«

7+ 61 — 4 = 0 —Weir Ao a, B ereolled, SLDSSETITL GUDHEMD CLPOMISETTHES G1EBTEToTL

B([pU&F FETUTLeNLS SHNe0uTsE.

(i) o wpmo 3° (ii) 2 HmID % (iii) o’5 wpmo
o .‘

The roots of the equation #* + 6z — 4 = 0 are «, 8. Find the quadratic equation whose
roots are
. 9 52 .. 2 2 ses 2 2
(i) ” and 3 (ii) — and — (iii) o3 and [ o
ot 5}
. 2 . . . . . ;. _13 . .
a, P erebtuent Tx + ar + 2 =0 -uledr ceoruBeT LOHMID [ — v = — eTeufled. a-udledr

wHIS STetoTe.

If a, p are the roots of 72" +ar+2=0andif 5 —a = _T“ . Find the values of a.

If -4 isa root of the equation 2* + pz — 4 = 0 and if the equation 2* + px + ¢ = 0 has
equal roots, find the values of p and ¢.

2+ pr—4 = eredTD FLOETUNMLIG6IT oD —4 HMID z° + pr + ¢ = 0 —UI6dT eLPEOTRISET
&LoLD erevfled, p LPMID g —uWiledT FILLS SHmeturs

If the area of the triangle formed by the vertices A(—1,2), B(k,—2) and
C(7,4) (taken in order) is 22 sq. units, find the value of .

A(~L2), B(k,—2) wpmio C(7,4) sydweupenn euflensiner (LeweotLl
Leerflsemmas elemeturL (eGanesorgdledr LTl 22 F&IT Si60@&Se6r ereofled, A-uiedr LS SHmesors.

If the points P(—1,—4), Q(b,¢) and R(5,—1) are collinear and if 2b + ¢ = 4,
then find the values of b and c.

P(—1,-4), Q(b,c) wbmib R(5,— 1) eretruenr @B GrisGsiiged Siemiowid
Yererflseir eTedTa. GogUd 20 + ¢ = 4 erevfled, b wpmb ¢ —ulledr WHIL Srevors.

(8,6), (5,11), (—5,12) womud (—4,3) I, Lemerfleemer (Lo emeTTHENT&HES
O\BMEUUTL. BMMHSTSHH 60T LTLIemLS SHIT60ursH.
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O&M(bSSLILILL L|6TTeIf|S6emelT (LD emeDT HeT&He 61&Me0oTL [hTM&IT &Hl60T LITLIemL&S SHIT600TS.

Find the area of the quadrilateral whose vertices are at
(i) (-9, -2), (-8, -4), (2, 2) and (1, -3) (ii) (-9, 0), (-8, 6), (-1, -2) and (-6, -3)

Find the value of k, if the area of a quadrilateral is 28 sq.units, whose vertices are
taken in the order (-4, -2), (-3, k), (3, -2) and (2, 3)

(-4, -2), (-3, k), (3, -2) whmub (2, 3) W WenerTHemeT eUfleDFUINS E\&HTETOTL
BIDaTSHEH 60T LTl 28 & Sie0&G 56N 616ufled, A—udledr HlLSH SHmetors.

If the points A(—3,9), B(a,b) and C(4,—5) are collinear and if e + b =1, then find
aand b.

A(=3,9), B(a,b) wpmip C(4,—5) erevtuent @ GaML_emwobg Leerflaer wHmID o + b = 1

erenfled, a HMID b —ulledr &IemLS Setors.

Let A(1,—2), B(6,—2), C(5,1) and D(2,1) be four pofnts
(i) Find the slope of the line segments (a) AB (b) CD
(ii) Find the slope of the line segments (a) BC (b) AD
A(l,—2), B(6,—2), C(5,1) ommuib 1)(2,1) eredTLIe0T [bT6dT& LieTerfls6r 6r6vfleD,
(i) (a) AB (b) CD erétip G&NL(bé SI6OUT(HSBETIET SFMLIEHEDETE SHITETUTE
(ii) (a) BC' (b) AD eréttp GaML(bS HletuTbSEerfledn FTILESEDETS HTETUTSH
(iii) eflewLseflelpba Brier Sirfleug) eTeiTeor?.

Without using Pythagoras theorem, show that the points (1,—4), (2,— 3)
and (4,—7) form a right angled triangle.

Hisnarev GahnsHems LWaTLbSSTO, (1, —4), (2,—3) wpmibd (4,—7)
6TE0TD (L eMEUTLI LieTaTf &6 (5 b\emIBGET6uur (&EHTEIITSHENS HHEMOHGLD GTeUTd ST (bd.

Show that the given points form a right angled triangle and check whether they
satisties pythagoras theorem

(i) A@—4), B2.—3) and C(4,—7) (ii) L(0,5), M(9,12) and N(3,14)

QEMbSSLILLL LeTerflsen 61§mh@aneoor (W&HEHMeouHend SHeMDSH@SD 6T60TH HML(b&%. BLoGID
Usnersn GsnnSHens HlemDe) CIFWILLOT 6T60T ShTMLIS.

(i)  A(L,—4), B2 —3) wpmwd C(4,—7) (i) L(0,5), M(9.12) wpmup N(3,14)

Show that the given points form a parallelogram :

A(2.5,3.5), B(10, — 4), (2.5, —2.5) and 12(—5,5)

5,

A(2.5,3.5), B(10,—4), C(2.5,—2.5) wpmid D(—5,5) Shdwerr emevursrHHeit (LpemeorL
LeTerf1&HelT eT60Td ST (h.
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Let A(3,—4), B(9,—4), C(5,—7) and D(7,— 7). Show that A BCD is a trapezium.

A(3,—4), B(9,—4), CB,—7) whmip (7, — 7) spfHuw ysieflsst A B CDeredtn sifloussHems
DIEWLDSHEGHLD 6T60TH BT (bb.

A quadrilateral has vertices at A(—4,—2), B(5,—1), €(6,5) and D(—7,6). Show that
the mid-points of its sides form a parallelogram.

A(—4,—2), B(5,—1), C(6,5) womio D(—7,6) SpdweunHemnmn (LPewenTll LeTeflSHenmss
Q&BMetUTL. [BMHSTSHH 60T LIS SMI&H6rfe0T HbLIL6TeMSH6T f DewevtISHT HeWS DIeWOSHGLD 6T60TSH
SHML(b&.

A mobile phone is put to use when the battery power is 100%. The percent
of battery power ‘¢ (in decimal) remaining after using the mobile phone for x hours is
assumed as y = —0.25z2 + 1

(i) Find the number of hours elapsed if the battery power is 40%.

(ii)) How much time does it take so that the battery has no power?

i SeweBudl Wetssdlerr 65 100% DmseoGuns
(battery power) siemepBuédlemwill LWETTLbSSS OSMLRIGHBDMD. = wevofll GHILD
LwedTLIGhSEW 19D B H BpH@SLD letise0s5 601 564 v FH6l5D (B850 55 60) ShevTS
y = —0.25z +1 gH@b.
(i) erspement weofll BEISHADGL DG eTsensder 65 40% a5
&SEDDBHH(HSHSLD 6T60TS HMET0TSH. 3
(ii) WetTamepid FHevTHI (W(RF FHHlemil BIPES 6T(bSHHIHESMETEHLD HITED 66
eTeuEUETEY?

60%

A line makes positive intercepts on coordinate axes whose sum is 7 and it
passes through (—3,8). Find its equation.
(—3, 8) etedTD LeiTerf] 62151 O1FELEUSILD, Sp LI DIFFEHEITE0T LOleW S C16UL (b S I600T(bS6TT 60T
Fn(bHED 7 2_ewL IIFHLOMeoT GHISEHTL L1q.60T SLOEDTLN 6WL_& STET0TS.

If the vertices of a AABC are A(6G,2), B(—5,— 1) and C'(1,9)
(i) find the equation of median (ii) find the equation of altitude

A(6,2), B(—5,—1) womib C(L9) —e (WwewenTHeMM&BSH 6®mmesor. AABC —ulledt (pemevt
A-uNeSlgpb gl euemIWILILIbhD (i) BhbesBHMLligelT FedTUM emL & sMesurs (i) GHmd Gomligedr
FLOESTLIML_ 6L & HITECOTS.

AABC —uledr (pewevr®er A(—3,0) B(10,—2) womip C(12,3) erevfled, A OHMID
B-uledipibg (p&Bamneouigdledt erHIUSSSHMHES euemTWLGBD GS55SEHTLIge0r
FLOGOTLIM(b&SH 6METES HITEOUTS.

A(—3,0) B(10,—2) and C'(12,3) are the vertices of AABC . Find the equation of the
altitude through A and 5.

B® U (bSHGEIETUTIb&H6E60T Fn(bHed WHMID SieuUDMedT QUBHHSHDU0sT WwemmBw 1, —6
ereofleb, GpITHBEM(b&HefledT FLOITUNL WL & SHME0oTS.
Find the equations of the lines, whose sum and product of intercepts are 1 and —6

respectively.

OFMemeey SMEMID FHHETSHeMmS LWIeITUbLSSTO, (—2.—1), (4,0), (3.3)wpmd (—3,2)
eT60TLIE0T @ emevuTH T HH 60T (LW EUTLI L|6ITEIT1H6IT 6T60TS ST (b,

Without using distance formula, show that the points (—2,—1), (4,0), (3,3)and (—3,2)
are vertices of a parallelogram.
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You are downloading a song. The percent y (in decimal form) of mega bytes
remaining to get downloaded in x seconds is given by y = —0.1z + 1.

(i) find the total MB of the song.

(ii) after how many seconds will 75% of the song gets downloaded?
(iii) after how many seconds the song will be downloaded completely?
BraseT e UMLemevll USlep&Ssd asilwbdungl, r efemmysEhsel NDG uslelnssd
aFiwIGeustoriqul  ISSpeTen LML606dT 56850 (D&M UL IGED) Y—SheoTsl (HFHSH D)
y = —0.1z + 1 eredTn FOOTUNL LG 60T ELOEDLD (GHMISSLILIL L TED,

(i) umLedledT auonss M B DiemTemeud SMetoTs.

(ii) 75% urm_emeoll LS ENDSHSHID CIFILILI 6TEUENETEY EXIEOTTLHET BhE&HLD?
(iii) erHmemevT TN &6l HUISHIL LITLED (Lo(LemWIMSl USleDS&sd 1FWWILILIhbb?

Find the equation of a straight line through the intersection of lines 7z + 3y = 10,
5z — 4y =1 and parallel to the line 13z + 5y +12 =0

Tr+ 3y =10, bx —4dy =1 pfu GCuISGasmbsseT &ShHlESD Letefl eubluimseayb,
13z + by + 12 = 0 eredtp GHOSE&SMqhHE& QemetonMEayd Siemwud GrnIHGEHmiigedr

FLOGOTLIML_6WL & HITECOTH.

50 —6y =2, 3r+2y=10 pHw CuIsEGsmbHeT SHHSEGSD Letell eublunseyb
dr — Ty +13 = 0 eredip CpISGaHMLGHSGE OFRIGSSHITHEUYD DemWWUWD GEHISHEHTLIg.65T
FLOSOTUM 6mL& SHMe00TS.

Find the equation of a straight line through the intersection of lines 5z — 6y = 2,

3z + 2y = 10 and perpendicular to the line 4z — 7y +13 =0

Q0 (WEBamevordHledr LTl 5 & Seo@GS 6. (2.1) wHmib (3, —2) eredTueT (Wp&Bsmevorsd Sl ot
Breturh (PemeuTLl Li6MerflSBe S @LD. eLpsdTDNb (Wemenrll Yetefl (2, y) eredtudléd y = = + 3
eTeor @(BHSHTEL il eTeflemd®d SHTeooTs.

The area of a triangle is 5 sq.units. Two of its vertices are (2,1) and (3, —2). The
third vertex is (z, y) where y =z + 3. Find the coordinates of the third vertex.

A(—5,7), B(—4,k), C(—1L-6) wpmio D(4.5) syflweuDenn (PeDETTSHEMTSHS 61&HTeT0TL
BIOH&THSH 60T LTl 72 & Si60GSH6T 6160fled, h—ulledr L HlIemLs SHTesoTs.

If vertices of a quadrilateral are at A(—5,7), B(—4,k), C(—1—6) and D(4,5) and its
area is 72 sq.units. Find the value of £.
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